550

100 350 100

N | PR g0 20
© H1s2B -0 8 8
iz—; . .‘0.‘ .,0‘. ..
| memso T
(3N
& : &5E

BENES I & e K- & g
-1 LAZiET 350 —f&&H Ss=1.10
oOoH % 100m 24 1)
ah % e K- F B 2B M
8% Bmoaviu-+tL B 3508 165.0 | {&
T )L & )18 (EHY) 0.6 m?>
V7 a-3hakavyy-t | HBIERL0N 5.5, m°
BEYVIvi¥32Y RC—40 55| m?
it ¥ 10.0| m?

1

29




BERES I iz e K-t & &
s -2 LEETL 350 ##@EA S=1.10
550
100 350 100
- ~20R .
H182B S .
3
RC—40 S
Mo % 100m% Y
& £ e -~ & B 2 B I
® : "E % Havil-tL B 3508 165.0 | 1&
E )L 2 )L 1:3 (ZHY) 0.6/ m?
V7 q-3habavyy-p | RO 1.0 m?°
BEYVSvI YISV RC—40 11.0, m?3
i oA 20.0 m?
130




155

155

550

100

450

110

10 105 _ 50

145

305

RC—40

200

505

:§Z_RJ:T:

BENES I & e K- & g
£ — 3 LAZiET 350 #H®&B S=1.10
o % 100m 24 1)
A % e K- F B 2B &
avhy-t+7 Ay mg}xwweoo 165.0 | &
T )L & )18 (EHY) 0.1 m?
VF q-3haravyy-p FERIECE 20 14.0 m?
BEYVIvi¥32Y RC—40 1.0 m?
it ¥ 45.0| m?

1

31




155

550

100 350 100

100

55

~20R

95

105

10

BERES I i 2 K- & fia R
-4 L2ETL 350 Lt&HHE S=1.10
M o# R 100m % Y
An % B K- &F & 8 E [
% @moavy-tL 3508B 165.0  1{&
T L& 13 (Z=HRY) 0.6 m?®

1

32



450

100 250 100

o ~20R _
w0 = | / 1:10 1:20
o Tl;j . '_. .: : f,;j - 2
S TR

295

& &

BENES I & e K- & g
£—-5 M-LEET 250 —#E S=1.,10
oOoH % 100m 24 1)
ah % e K- F B 2B M
% mavh)-+rL B A>—250R| 165.0| {&
T )L & )18 (EHY) 0.5| m?
VF q-3haravyy-p FERIECE 20 4.5 m?
BEYVSvyi¥7Y RC—40 4.5 m?
i 2 10,0 m?

1

33




450

100 250 100

- ~20R
o © { /110 11:20
A
RC—40 S
:§Z_RJ:T:

BENES I & e K- & g
£—-6 M-LEET 250 H@&E |Ss=1.10
oOoH % 100m 24 1)
ah % e K- F B 2B M
% mavh)-+rL B A>—250R| 165.0| {&
T )L & )18 (EHY) 0.5| m?
VF q-3haravyy-p FERIEE 20 9.0 m?
BEYVSvyi¥7Y RC—40 9.0 m?
i 2 20,0 m?

1

3 4




550

100 350 100

o ~20R )
w0 e | / 1:10 1:20
° : '_. .: g . 2
RC—40 b3
3 5 8

305

ﬁ?:iﬁ&

BENES I & e K- & g
5—-7 M-LEET 350 —fikE S=1.,10
oOoH % 100m 24 1)
ah % e K- F B 2B M
8% Bmoaviu-+tL B 3508 165.0 | {&
T )L & )18 (EHY) 0.6 m?
VF q-3haravyy-p FERIEE 20 5.5/ m?
BEYVSvyi¥7Y RC—40 55| m?
i 2 10,0 m?

1

36




BENES I i e K-t & e

£ —8 -LHBEI | 350 #HEEA [S=1.10
550
100 350 100
- ~20R .
[Tp)
RC—40 S
# ¥ = 100m ¥ Y
& % B K- % % 2 B
i : B [E
i B aAIVHIY-bL | AS—350H]| 165.0| {@&
E )L 2 )13 (Z=HY) 0.6 m
V' 4-39Abavyy- | FBIEE 20 1.0 m
BEIVSyI YTV RC—40 11.0 m
Ein) 3 20.0 m

136




200

10

145

BERES I i 2 K-~ & w R
s-90 @ ® x TUREEIOCTR Is-q 90
10% 45cm
650
35 165 450
f}/;‘o/
175 80. o ¢ 2
3O IS
<3 RC—40 & 3
® B X 100m% Y
:ﬁz_:J:T: .
i £ B K-~ EF #H = B &
. s 150
Vs Y—+rERIOYY 170><200><600 165.0 {&
£ L % J 13 (Z=HY) 0.1 m 3
l/7-'¢ 4‘57Z|‘]>7U‘|‘ %iEE*BS_ZBB_)ZOH 13 2 m3
BEISvI YISV RC-40 9.8 m 3
i) B 54. 0 m 2

137




BENES I i e K-t & % R

e BHEE 40

10

145

- S=1.10
10% 45cm
650
165 450
N B L I
ﬁ% Bauoe
175 80" ° =
iy <
RC—40 2
# 100mE L
®: 5E ® OB % m3 Y
an £ B K-t F | #H 2 B &
avsyYy—rJovs 165/170 165.0 {&
50/70 x 600
£ L % J 13 (Z=HY) 0.1 m 3
l/7-'¢ 4“57Z|‘]>7U“|‘ %iEE*BS_ZBB_)ZOH 13 2 m3
BEISvI YISV RC-40 9.8 m >
i B 54.0 m 2

138




BERES I i 2 K-~ & w R
P EEHEE40cmA _
Z—-11 | #H & I R $S=1.10
10% 45cm
650
35 165 450
wglﬁ 1:10
o 175 30 ° <
‘_ ooooo oo o s
L3O
= RC—40 3
2 s
& YR 100mZ Y
& &E " -
fh £ B K-~ EF #H = B &
. s 160
Vs Y—+rERIOYY 170><100><600 165.0 {&
£ J &% L |13 (ZHY) 0.1 m 3
l/7-'¢ 4“57Z|‘]>7U“|‘ %iEE*BS_ZBB_)ZOH 13 2 m3
BEISvI YISV RC-40 9.8 m 3
i) B 54. 0 m 2
1309




200

BEHES I L 2 K-~ & e R
s HEHEE40cmHA _
-12 # R I BBYTInyy o 1710
750 10% 4b5cm
50 30 220
%T1%
e ol &
S 2PK/JﬂL//
; m0°3¢ 0 ° 2
A5 O @SS
o= RC—40 &5 s
D EBRIE
M M X 100FFAT & Y

st Y1 MEER| avhY-b EMSL | BIE | 30 15 30 RC-40
* it E EE%%II188_288_)20H 1:3 250*150*600 178x200x250x15(ﬂx600
T | om | cm mS m° m & & m’
A 303424 61.9] 0.9 |229.0 500.0 200.0 47.7
B | 424/ 545| 79.6 | 1.2 |294.3 700.0 200.0 61.3
C | 5451666 97.3| 1.4 | 359.6 900.0 200.0 74.9
D | 727 848123.9| 1.8 |457.9 1200.0 200.0 95. 4

LRERUNDEGIEREHRFT S &

1

40




BEREZES T i e K-~ & w R
s—13 @ ® x TEREESSCTR Is-q 0
650 10% 45cm
35 165 450
g N B LR
o 175 80 ° <
~ ooo oO oo © ° ° -
= h=s s
@ F% S
&, RE740 =S I
& SO .sse
® O® = 100m¥% Y
& : &E An £ e K-~ F | B 2 B I
. X 150
avey—rJowy 170 x 200x 600, 165.0 {&
£ L % J 13 (Z=HY) 0.1 m 3
l/7-'¢ 4“57Z|‘]>7U“|‘ %iEEJFS_ZBB_)ZOH 13 2 m3
BEISvI YISV RC-40 19.5 m 3
i) B 54. 0 m 2
141




BENES I i e K-t & % R

HEHEESS5 cmHA

£-14 | & R I w8 $=1.10
10% 45cm
650
35 165 450
- ooooo Oo °
an s
g RC—40 % S
S5 &0
o 100m ¥ Y
i £ e K-~ EF B E B &
@ - &
) 165/170 x
vHy—rJavy 165.0
-7 g 50,/70 x 600 fE
£ J &% L |13 (ZHY) 0.1 m 3
l/7-'¢ 4“57Z|‘]>7U“|‘ %iEEJFS_ZBB_)ZOH 13 2 m3
BEYVZ79viv3o3Y RC-40 19.5 m 3
i) B 54. 0 m 2

142




BERES I i 2 K-~ & w R
s—15 @ ® xT TERERSECTR Isoq 0
650 10% 45cm
35 165 450
S = 1:10
o 175 sac =
B ooooo Oo ° - °
25 g
% RC—40 é S
S5 &
YR 100m¥ Y
T £ B K-~ EF #H = B &
@ &5F A0 ; = T
:‘/’J'J—Ftﬁﬁj‘nva[}%)}HOOXGOO 165.0  {&
£ L % J 13 (Z=HY) 0.1 m 3
V3 q-3habavgy-p | EERIERON 3.2 m?®
BEIIYS YTV RC-40 19.5/ m?3
i) B 54.0 m 2
143




BERES I i B K-t & e R
y HEEHEESS5cmA a
750 £-16 & R I BpHyFIoyy (O 1710
10% 45cm
50 30 220 450
%T1%
s gl 2 .
N 2 o 7‘//
; . 270" 30 z
& = - . O )
o Eeo
& : B MoH = 100 AT H Y
st Y1 MEER| avhY-b EMSL | BIE | 30 15 30 RC-40
* it E EE%%II188_288_)20H 1:3 250*150*600 178x200x250x15(ﬂx600
T | om | cm mS m° m & & m’
A 303424 61.9] 0.9 |229.0 500.0 200.0 95.4
B | 424|545 79.6| 1.2 |294.3 700.0 200.0 122.6
C | 5451666 97.3| 1.4 | 359.6 900.0 200.0 149.9
D | 727/848|123.9| 1.8 |457.9 1200.0 200.0 190. 8

LRERUNDEGIEREHRFT S &

144




BENES I i e K-t & % R

HEHEE65cmHA

200

10

145

£—-17 | #H £ I iy S=1.10
10% 45cm
650
35 165 450
I B
175 B0, o 8
= &
< >,
sa S
% % MoB % 100m 24 U
5 e fh £ B K-~ EF #H = B &
. : 150
avsy—rJavy [170}x200x600 165.0 | 1A
£ L % J 13 (Z=HY) 0.1 m 3
V3 q-3habavgy-p | B IERZON 3.2 m?®
BEYISYIYTY RC-40 26.0| m?3
i) B 54. 0 m 2




10

145

650
175 80- ° S z
o =
e S 3
= =
= E::
DB IE

BERES I i 2 K-~ & w R
s—18 @ ® T | TIRRESSCTR Is=q 10
10% 45cm
M M % 100mZ% vy
fh £ B K-~ EF #H = B &
165/170 x
avaoy—rJavy 165.0 {&
50/70 x 600
£ J &% L |13 (ZHY) 0.1 m 3
l/7-'¢ 4“57Z|‘]>7U“|‘ %iEEJFS_ZBB_)ZOH 13 2 m3
BEISvI YISV RC-40 26.0 m 3
i) B 54. 0 m 2




650
35 165 450
S 1:10
; nssf S =
= S 3
< ch
= o
= S0
:§Z_RJ:T:

BENES I i 2 K-~ & e R
HEHEE65cmHA _
5-19 | # E I oy s=1./10
10% 4bcm
Mo =X 100m&% Yy
An £ B2 K-~ &E B 2 B
. X 160
:/’J'J—Ftﬁﬁjnv?[170}x100><600 165.0 {&
T O A2 L 13 (EHY) 0.1 m?3
l/7-'¢ 4“57Z|‘]>7U“|‘ %iEEJFS_ZBB_)ZOH 13 2 m3
BEIVSvI YISV RC-40 26.0 m >
i) B 54.0 m 2

1

4 7




200

BERES I e K-t & w R
y HEEHEE65cmA a
— 20 7 £ BHRYTIOY Y S=1.10
10% 45cm
5030
15T
s o 3
2 S T 1
- 270 3&/ 2
- es
g% % 2
§§ %%
e .e
® B =X 100 Fr L U
2 =t 1] +h _
i =& ’%E ’1-5”':7’:;' B 550*150%600 E?gxzo%{z‘"’fochﬂxaoo RG-40
T | cm m m & me
A | 303 0.9 |229.0 500.0 200.0 127.2
B | 424 1.2 |1294.3 700.0 200.0 163.5
C | b45 1.4 |359.6 900.0 200.0 199. 8
D | 727 1.8 |457.9 1200.0 200.0 254 4

LRERUNDEGIEREHRFT S &




650
35 165 450
3
§ — 6 %
y 5 |
N °e °
o LV o ° coe
- 175 80, o ° . g
o ° o N
f ° ° o o ° o
o o o o
e e eY N
3 RC-40 S8

400

@MEE

i e K-t & % R

HEHEE4I40cmHA

5—21 B E T Y S=1.10
6% 45cm
O R 100m =Y
An % B K- &F & 8 E [
QLo y—trTay s [}gg}x 200 600, 165.0 | {&
T L 2 13 (EHY) 0.1 m?3
U q=3pabavhy-p | ER IS RON 1.9 m?®
BEXEYS5v9yv¥35>Y RC-40 9.8/ m?
it e 57.6| m?2

1

4 9




BEKES T i 2 K-t & w R
22 | @ ® T TEMEROCmA g4 10
18 5
6% 45cm
650
35 165 450
o 0 %
- 175 8- ° 2
& 0 ) u <
o E
RC-40 2
R s
# #H = 100m ¥ Y
& &E -} % B K- F B OB B O
165/170 x
avaoy—rJavy 165.0 {&
50/70 x 600
£ J &% L |13 (ZHY) 0.1 m 3
l/7-'¢ 4“57Z|‘]>7U“|‘ %iEE*BS_ZBB_)ZOH 13 9 m3
BEYVZ79viv3o3Y RC-40 9.8 m 3
i) B 57.6 m 2
150




BEREZES T & e K-~ & w R
HEHHEXEE40cmA _
£ —23 H E I 0y T S=1.10
6% 45cm
650
165 450
M
- 175 30‘,: ¢ 2
% ° e ) <
3
RC-40 2
& R
® B X 100m% Y
@ &E & £ B K- % | % 2 B
. X 160
Vs Y—+rERIOYY 170><100><600 165.0 {&
£ J &% L |13 (ZHY) 0.1 m 3
U q=3pabavhy-p | ER IS RON 3.9 m*®
BEISvI YISV RC-40 9.8 m 3
i) B 57.6 m 2
15 1




200

BERES I i 2 K- & fia R
s HEHEE40cmHA _
£-24 #H R I BBYTInyy o 1710
6% 45cm
750
5030 220 450
1%T1%
N 3
S g — 6 %
- - 270" " B0 2
3 R
# ® X 100E AT Y
. Wk avhy-+ ENAN 418 30 RC-40
- B AT EERIL L ER 500000 S s
T ' om|/om| m m° i & m?
A | 303424 65.9| 0.9 |244.2 900.0 200.0 47.17
B | 424545 84.7 | 1.2 313.9 700.0 200.0 61.3
C | 545666 103.5| 1.4 | 383.6 900.0 200.0 74.9
D | 727,848 131.8| 1.8 |488.4 1200.0 200.0 95.4

LRERUNDEGIEREHRFT S &

1

52




650
35 165 450
o
o Lo
< — 6 %
o ° ¢
o) o o
— . o o
. o o 8
- 175 80 R 9
© o o o
— o ° o .
[e] o] [e] [e]
= 5
g :
Lo
~

500

BENES I i 2 K-~ & e R
s-25 # ® x TOREESOCTR Is-q 0
6% 45cm

# O# % 100m=zY
An £ B2 K-~ &E B 2 B

S DENC NP [}ggszow 600/ 165.0 &
T L A2 L 13 (EHY) 0.1 m?3
V7 4-39RbavhY-} B 18 8 20H 3.9 m?3
BEYS5vyLv¥5y RC-40 6.3 m?
i) 2 57.6 | m?2

1

53




BERES I i 2 K- & e R
s-26 # ® T TORRFE0CTR Is=q 10
8 &
6% 45cm
650
35 165 450
. 6 %
- 175 30‘,: ° 2
5 c o i ) u S
s5y o |
% RC-40 % 2
S =2
M #® =R 100m % Y
AR % i K- | & E B
@ &5FE
165/170 x
avyy—rJAvy 165.0 | &
50,/70 x 600
T L A2 L 138 (ZEH/RY) 0.1 m*®
U q=3pabavhy-p | ER IS RON 3.9 m*®
BEYVSvoyoY RC-40 16.3 m
i) A 57.6 m ?
154




BEKES T b 2 K-t & B R
s HEHEESO0OcmHA _
£—-27  #H ® I WY i $=1.10
6% 45cm
650
35 165 450
M
- 175 80° ° 2
o o o o ° ° 8
o s i
% RC-40 558
o # o#H % 100m % vy
i £ B K-~ EF #H = B &
& R :‘z’)l)—htﬁﬁj‘n‘ya[}%)}MOOXGOO 165.0 1@
£ J &% L |13 (ZHY) 0.1 m 3
l/7-'¢ 4“57Z|‘]>7U“|‘ %iEEJFS_ZBB_)ZOH 13 9 m3
BEYVZ79viv3o3Y RC-40 16. 3 m 3
i) B 57.6 m 2
155




200

BERES I i 2 K- & fia R
y HEEHEES50cmA a
£-28 # R I BBYTInyy o 1710
6% 45cm
750
5030 220 450
1%T1%
N 3
S g — 6 %
- - 270" " B0 2

= a1

% RC-40 % 3

o5,

# ® X 100E AT Y
- 4 = | £ z YAl — 1] +h -
B AT RERNL PR Hoer500600 ol sgann PO

T ' cm|/om| m m° i & m?
A 303424 65.9] 0.9 | 244.2 900.0 200.0 719.5
B | 424545 84.7 | 1.2 313.9 700.0 200.0 102.2
C | 545666 103.5| 1.4 | 383.6 900.0 200.0 124.9
D | 727,848 131.8| 1.8 |488.4 1200.0 200.0 159.0

LRERUNDEGIEREHRFT S &

15

6




BENES I i e K-t & % R

HEHEEG60cmHA

10 200

163

£—29 | #H E I e $S=1.10
650 6% 45cm
35 165 450
- 6 %
175 80, o ° 3
z =
% RC-40 % 3
o) )
= =S H OB % 100m % Y
fh £ B K-~ EF #H = B &
& & avsYy—rJAawvy [BSJXZOOXGOO 165.0 {&
£ L % J 13 (Z=HY) 0.1 m 3
l/7-'¢ 4“57Z|‘]>7U“|‘ %iEEJFS_ZBB_)ZOH 13 9 m3
BEISvI YISV RC-40 22.8 m 3
i) B 57.6 m 2

1

57




BENES I i e K-t & % R

HEHEEG60cmHA

10

163

£—30 H E I w8 S=1.10
6% 45cm
650
165 450
& 6 %
175 sq: ¢ o 2
S o
RC-40 2
=y
e OO 100m % vy
A £ B2 K-~ F | % 2 B &
165/170 x |
O e avsy—rJAvy 165.0 &
B 50/70 x 600
£ J &% L |13 (ZHY) 0.1 m 3
l/7-'¢ 4“57Z|‘]>7U“|‘ %iEEJFS_ZBB_)ZOH 13 9 m3
BEISvI YISV RC-40 22. 8 m 3
i) B 57.6 m 2

158




BENES I i 2 K-~ & e R
HFEHEEG60cmHA _
$—-31 | # E I oo S=1.10
650 6% 45cm
35 165 450
M
- 175 30; S 2
o) [e] o ° °
% RC-40 3
e r
o oo T 100m & 1)
An £ 2 K-~ E #H E B
® &6E :‘z’)l)—htﬁﬁj‘nv’?[}%)}MOOXGOO 165.0| 1@
E L A2 L 1:3 (ZHVY) 0.1 m 3
V7 4-39RbavhY-} Big18- 8 20 3.9 m?
BEY5vSv¥y32 RC-40 22.8 m?
i) B 57.6 m 2

159




BENES I i e K-t & % R

HEHEEG60cmHA

200

750 £—-—32  #H & I DT T D o S=1.,10
6% 45cm
50 30 220 450
135T 165
N S
o «© - 6 %
ks S y —— o |
. - 270" B0 2
% RC-40 % 2
. =y
o &0
geS
M M X 100FFAT & Y
Rzt U T MBS avhY-+ EMAL | B 30 150 30 RG-40
& ®E g EEGEE FLEE00 13 750*190%600 170x200x25()X15(ﬂ><600
T | om | cm mS m° m el & m’
A 303424 65.9] 0.9 | 244.2 900.0 200.0 111.3
B | 424 545 84.7| 1.2 |313.9 700.0 200.0 143. 1
C | 545666 |103.5| 1.4 | 383.6 900.0 200.0 174.8
D | 727 848 131.8| 1.8 |488.4 1200.0 200.0 222.6

LRERUNDEGIEREHRFT S &

160




10 200

163

650
35 165 450

b4

- 6 %

BS °
175 80. o ° 3
(23 -
ea & 3
- >
e 0

:§Z_RJ:T:

BERES I i B K-t & e R
s-33 @ ® x TOIREESSCTR Is-q 0
6% 45cm
# O# % 100m=zY
An £ B2 K-~ &E B 2 B
Svsy—+TaYY [138}x200x 600 165.0 /@
T O 2 L |13 (ZEHY) 0.1 m?®
V7 4-39RbavhY-} B 18 8 20H 3.9 m?3
BEYSvyLv¥S5y RC-40 26.0 m®
it A 57.6 | m?2

1

6 1




BENES I i e K-t & % R

HEHEEG65cmA

£—-34 | #H B I = 18 1 $=1.10
6% 45cm
650
35 165 450
& 6 %
- 175 3q: ° S 2
(e} (e} °
= o RC-40 == s
e 'S
% % T o\ & 100m % Y
55 S50 fh £ B K-t F | #H 2 B &
165/170 x
avyyYy—+rJovy 165.0 {&
®  B5E 50/70 x 600
£ L % J 13 (Z=HY) 0.1 m 3
l/7-'¢ 4“57Z|‘]>7U“|‘ %iEEJFS_ZBB_)ZOH 13 9 m3
BEYIVSYINYIT Y RC-40 26.0 m >
i) B 57.6 m 2

162




BENES I i e K-t & % R

HEHEE65cmHA

$—-35 | # E I 50T s=1.10
650 6% 45cm
35 165 450
o W
- 175 30} S z
oo o
=0 RC-40 8
= Es
% @ M B X 100m ¥ Y
S S55 5 v B dk-t % K B B &
i ) 160
Svou—tERIAYY 0 x 100X 600 165.0 e
ip) : R [E
3 F )L & L 1.3 (ZHY) 0.1 m 3
V7" 4-39Rbavh Y-t B 18 S 20 3.9 m?3
BEYISYIYSY RC-40 26.0] m?3
Eid] el 57.6| m?

163




750 *ﬁm%% I *E ﬁ? :Iﬁ " T_" 5£ ﬁﬁ R
. HEHEE65cmHA
s — 3 =
50 30 220 450 >—-36 | & X T BB TFIOvY §=1710
6% 45cm
1%T1%
2 g = 6 %
uld N y —— o |
; - 270" 80 2
o .
RC-40 =
= g 3
- =2
555 S5O
M #H % 100FFr&y U
& &F Rzt VDT FEERavhY-+| EMAL | BEEE 30 15 30 RC-40
) i TR ER P | 13 250*150%600 178x200X250X15(ﬂx600
T | cm | cm m® m m & & m’
A 303424 65.9 | 0.9 |244.2 500.0 200.0 127.2
B | 424|545 84.7| 1.2 |313.9 700.0 200.0 163.5
C | 545|666 | 103.5 1.4 | 383.6 900.0 200.0 199.8
D | 7271848 131.8 1.8 |488.4 1200.0 200.0 254 4

LRERUNDEGIEREHRFT S &

164




10 200

163

650
35 165 450
o
Y]
- 6 %
y o |
e O OB" o
LQO ° o
175 80, o ° 2
o ° o N
Zoa 2
ﬁa: R E

BENES I i 2 K-~ & e R
£-37 # ¥ I TERE S=1.10
6% 45cm
# O# % 100m=zY
An £ B2 K-~ &E B 2 B
QLo y—trTay s [}gg}x 200 600, 165.0 | {&
E L 2 L1838 (ZEHY) 0.1 m?3
V7 4-39RbavhY-} B 18 8 20H 3.9 m?3
BEYS5vyLv¥5y RC-40 3.3 m?
i) 2 57.6 | m?2




10

BENES I i e K-t & % R

163

e 3 EEE
$-38 # £ I o $=1./10
6% 45cm
650
35 165 450
o 6 %
175 80" ° 2
EOE O 100m% Y
B RE & £ B K- % B B B
165/170 x
avsy—rJavy 165.0 | {&
50/70 x 600
T )L 2 L |13 (ZEHVY) 0.1 m?
U q=3pabavhy-p | ER IS RON 3.9 m*®
BEYSvyLv5> RC-40 3.3 m?3
it e 57.6 m *

166




650
35 165 450
o
[}
- 6 %
g 3 :
— =} °
o\ o ]
Rl ) ° o o)
. o o
- 175 30, 0
g o o o
. o oo ° o °
ARSI SRS
CEE

250

50]

BENES I i 2 K-~ & e R
L& _
£—309 7 B I gy T S=1.10
6% 45cm
M O X 100m&% Yy
An £ 2 K-~ E #H E B
. X 160
:/7')—f~t§i‘ﬁ~7lﬂ‘y7[170}X100X600 165.0 {&
E L A2 L 1:3 (ZHVY) 0.1 m 3
l/7-'¢ 4“57Z|‘]>7U“|‘ %iEE*BS_ZBB_)ZOH 13 9 m3
BEYIVSYINYIT Y RC-40 3.3 m >
i B 57.6 m 2

1

6 7




200

BENES I i e K-t & % R

L AR B &

= — A =
0 $—-40  #H E I T T oy b s=1.10
6% 45cm
50 30 220 450
35 T 165
N ol 3
o ©| T 6 %
= &y 5] 1
270" * ° B0 0° 2
e Hoge 8
® : &E
M M X 100 AT & Y
Rzt U T MBS avhY-+ EMAL | B 30 150 30 RG-40
i TR ER s 13 250>l<150>l<600 170x200><250x15(ﬂx600
T | om | cm mS m° m el & m’
A | 303424 65.9| 0.9 |244.2 500.0 200.0 15.9
B | 424 545 84.7| 1.2 |313.9 700.0 200.0 20. 4
C | 545666 |103.5| 1.4 | 383.6 900.0 200.0 25.0
D | 727 848 131.8| 1.8 |488.4 1200.0 200.0 31.8

LRERUNDEGIEREHRFT S &

168




BEREZES T i e K-~ & w R
s — 4 1 #HEFIIT avsy—+Jovsy | S=1,20
6% 45cm
365
620 (615) 50 315 60
165 350 100
§ 6160/0 - R ()
oy S S| 2 -
- i <| ~ r —
g? 615 BoOH % 100 % Y
N 1655 345 2080 .
SH - T i £ B2 K-~ &E B = B I
oL ® - o 5 3 g
8 == @ | 3 =+ 5 - 100.0| 1@
b 170L 345 jo 0 | o 490 x 365 x 60
15 B avsy—rJovsy 450 x 700 100.0 | 1A
®  B6E g avsy—trTaYs [}?8}x200x700 100.0 | f@
avsy—rJawvs [620(615) x700x 800 100.0 | 1@
E ) A2 )L Bwg1 . 3 0.3 m 3
. 3% 18-8-20H
£ 23 v (H1828) 2.1 m?
BEYVSYIYIT Y RC-40 50 m?3
1609




615

165 350 100

5 8 %
[aV] N
o
- ]
615
1655 345 oc80
_ I
o
2
o o
o o
r~ <t
S
i -
o

490

365

50

315

260 115

115

100

60
=

BERES I i 2 K-t & e R
% 43 av9)-+7" 0yY _
6% 45cm
® OB % 100 5 )
an £ B K-t F | #H 2 B &
TRk
xF 9 A f= 100.0 &
490 x 365 % 60
avsy—rJovs 450 x 700 100.0 &
. X 150
avsy—rJavy [170}x200><700 100.0 {&
T )L 2L Hig1: 3 0.3 m 3

1

70




BENES I i e K-t & e

1095

£—43 LEEIT T 250H S=1.20
315 60
0_ 265
500 S -
100 300 100 -y
‘ ol © —
I
S [ ) —
% j% §*
I 550 | _ 50
2 80 450 80 1005 295 20100
_ 2 IR I 100% % Y
e ——— . - | . N
S O@g@ S i % e K-t & B 2 B i
< 4 R A
oo o) ET 5K 490%315%60 100.0 1@
SN IVHY-1+7"0y) 400%700 100.0 | {&
& &mE " 100%220%700 100.0 | &
2 I H ¢ 450 x 150 100.0 &
Ll 1 A 7L M Z 450 x 490 100.0 | &
E 13| %£550x% 90 100.0 &
EF L A2 L B .3 0.2 m 3
i R 1.0 m 3
BEYISYINYIT Y RC-40 3.3 m?3

171




500
100 300 _100
R
wl 2
Qg jﬂ
o — =
500
100 295 _ 100
315
5 201
S 0 265
© I
Y o)
Y — b
(—
Sk g |o
=~ o ()
[Ye)
07 ~—
) =
g
o

60

BERES I i 2 K-~ & e R
$£—-44 | LBETI |250M LtHBHE/s=1.20
MoOoR X 100& %4 Y
T % iz K- & % E B &
ET AL R 60 100.0| fE
AvhY-+7"0y) 400%700 100.0 | {&
" 100%220%700 100.0 | {&
E L 2L Bi#1: 3 0.1 m?2

1

7 2




1090

550

100 350 100
1]
o
o Wﬁ o
N =
Mo L
e
[Ye)

|| 550 ]
o 50 450 50
D
<t
o
[=>)
2o - — L
2 o a8y

650
: B

T

700

365
b0 315 gg
5 —
(@D
ol o
=3 © (e
= —
of—
550
100 345 80
5 2
_ g
o
) -
o
o
<
S
ol
o

BERES I 1 6 K- & e R
£—45 LREFET T 350H S=1.,20
Z I S 100& L 1)
o £ B K- & % 2 B
F 9 X fz HRERS 100.0 &
490 x 365 x 60
avyy—+rJavy 450 x 700 100.0 &
avsy—+Javs | 100x220x700 | 100.0| {&
£ k& H ¢ 450 x 150 100.0 &
] BR HAMFE450x490| 100.0 | &
I3 R 550 % 90 100.0 | {&
S | |V Hig1:3 0.2 m?3
b B 1.0, m?3
BEISvINYI v RC-40 3.3 m®

173




550
100 350 100
] \
(=}
g1 ——7 |e
NS =
S |
550
100 345 80
o 2
_ d
(=4
3l —
(=4 (=4
o (=4
~ <
2
-
o

490

b0

365
315

260 _115

115

000

60

BENES I & e K- & e
5—46 L#FEII 350H LE#K&ES=1.20
oOoH % 10084 Y
o % B K- & % 2 B
E S BN = bl 100.0 | &
490 x 365 x 60
avsy—rIavy 450 x 700 100.0 | &
avsy—r7avs | 100x220x700 | 100.0 | {&
£ L A2 L B : 3 0.1 m?®

1

7 4




BENES I i e K-t & e

140

£-101| SEHET —MKB E14cmS=1.10
= 0 (F54La—F)
=0 ¥
:§Z_RJ:T:
# O# % 100m % v
Ah £ K - T ¥ E B
FRAI77ILEEEY 8 L BE 10.0 t
7RX77IL LELH PKS3 126.0 34
BEYVZv9yiv¥%373>Y RC—30 12.7 m 3

175




150

Ao —Avyx>5Jnvy

2874

702060

- 1 [

-

=

v-so 55 g

:§Z_RJ:T:

BERES I & e K- & e R
i ok —h2E /E15cm _
£2—-—102 HEHET [55-T9ku5° 7* s S=1.10
7 M X 100m 4 v
An £ K - Tk H =2 B &
Aoa—0vFx2y
X E6ommhS— 100.0| m?2
Javy
B fib 2.5 m >
i A OB A M—30 8.9 m*°

1

7 6




170

A3 —Ayxo5JOvyy

L8]

80

70

2(

M—30 g%

@ - &

[l

BEREZES T i 2 K-~ & w R
. — iR & [E17cm
%— 7> 4 A4t =
£—-108 HEHET (o3R58 3 09h s=1-10
YR 100mZ Y
fh £ RAK - Tk H =2 HBH A
A8 —0OyFx2y
X E8Oommh S — 100.0| m?
Jovy
g b 2.5 m?3
O OB A M—30 8.9/ m?3

177




230

60

100_ 50

BEREZES T i 2 K-~ & &
% _ A v g WmEA  [E23cm _
52— 104 SH$HEGHET o mEsh" 3 098 S=1,10
4Avh—nvxLFJiavy
8,
| L
LR (F54La—+)
M—30
:§Z_RJ:T:
YR 100m ¥ vy
i £ RAK - Tk H =2 HBH A
1o8—avyx2y
‘ FE60mmh <o — 100.0 m ?
Jaowvy
g b 2.5 m?3
BAE
i BRI E 12.9 t
FAI77ILLNERED
TAIZ7ILLELF PK3 126.0 (37
AR OB A M—30 12.7, m?3

178




280

A vB8—Avyxo5JAavy

o
2 1]
2 BEMHANE
2 BEHANE
o
2 M—30
D BRIE

(754 La—+F)

BEREZES T i e K-~ & &
VI WaEmB [E28cm _
£—-105| SEHET J . S=1.10
YR 100m¥% Yy
o £ ek - Tk H = B
Ao —ayvxoy
) E60mmAhS— 1000 m
JOowy
g iy 2.5 m
BAE
12.9 t
FXAI77ILMEED
BAE
i 12.9 t
FAI77ILLERED
FTRAI77ILMEEA PK3 126.0 134
TR =R = M—30 12.7 m

1

7 9




250

Av8—Ayx>o5Jayy

L2 g
o
[ee)
el

2 BEMAKNE
(=]
2 RM—40

D ERIE

&)
® (754 La—F)

&)

BEREZES T i 2 K-~ & w R
i g s fHIRERC  E25cm _
£-106 FEWERTL 1v5-09%v9° 7" ny) S=1-10
XRBELFA(H2 SEXH)
M O#H % 100m ¥ v
i £ RAK - Tk H =2 HBH A
A8 —0OyFxoy
‘ E8OommAhS— 100.0 | m?2
Jaowvy
g b 2.5 m?3
BXE
#H I E 12.9 t
FAI77ILLERED
FTRAI77ILMEEA PKS3 126.0 134
TR =R = RM—40 12.17 m 3

180




300

AvB8—Ayx>o5Jnvy

L@y

s

< @&
2 BAEMEAME @
2 BAENE (F54 La—F)
S _
S % RM— 40

:§Z_RJ:T:

BERES I i e K- & e R
v gt W®wHMD E30cm

o = & Ut -

5—107 HEHET JR S=1.10

XERBELFER (H2 3EF)

YR 100m¥% Yy
o £ ek - Tk H = B &
Ao —ayvxoy
) E8oOommAh>— 100.0 m 2
JOowy
g oy 2.5 m?3
BHE
K E 12.9 t
FXAI77ILMEED
BHE
. KL E 12.9 t
FAI77ILLERED
FTRAI77ILMEEA PK3 126.0 134
TR =R = RM—40 12.7 m 3

181




250

BERES I ;] B K-t & e R

. W& F250m
5 8 A 4 : =
£—-—108| SEHETL b5 457 0y s=1.10

BMaEE IOy ~2200x 100 E80mmhi-

EIILAZIL(1:3)

BAAEM

RC—30

S B 5 5ma-h
i

10050 20 80

XERBEMMY - EXEERI(H2 SXH)

# o o# X 100m 4 Y
o % Bk - TiE ¥ E OB M
WEzEIJnysy E8ommAhS— 100.0 m 2
EILZIL 1: 3 2.0 m 2
B
FRAI7ILLEEY AR 129
TAI7ILEAE PK3 126.0 (97
BEYVI5vyi¥32 RC—80 12.7 m >

1

8 2




180

BENES I i e K-t & % R

B— 109 BEAALBET —BE E18cm [S=1.10

EIILEIL
o
Ki g7 A1 A0 %
S (754 L6a—1)
= ) o
:§Z_RJ:T:

# OB =® 100m 4 Y
o % Ak - TiE # 8 B
A %4 &K&E E20mm 100.0| m?
S R S | BHm1:3 3.0/ m?
TFAI77ILEEEY B AL BE 7.5 t
7 A7 7IL ELA PKS3 126.0 ¥
AR OB A M—30 12.7| m?3

XEMELZLERCHBEB ML, RARNREICK D,

183




350

EILZIL

RM—40
O ®

AV A1 A0
c?, 4
3 DR % 3% 21-8-20H
- Ce (H212B)

— (754 La—F)
; %
[fe)

O

:ﬁz_:l:T:

BERES I 2 K-~ & e R
£—110| B8R4/ LHET #WBEHMA E35cm S=1.10
M # =R 100m% Y

AR % mAK - STi& #H B BH
AR 424 )L &8 E20mm 100.0| m?
T L A2 L B : 3 3.0, m?®
£ 3 v e " 5.0/ m?®

A7 MELF PKS3 126.0 3
BEMNARA RM—40 191 m?3

XKEMELZIILROHERMMIE., RHARAREIZED,

184




450

ELEN
S 217 2J7 z[7
™
S 38 21-8-20H
N (H212B)
S RM—40 %
D EBRIE

(T34 La3a—+)

RERES I & fe K- IR A
B—111| BESALHET #HrH¥B E45cm S=1.10

® H = 100m %Y
R % AR - STk #H B B
B A 24 &FE E20mm 100.0| m?
T L 2 L Bi#&1:3 3.0 m?®
=5 3 > kAT 200 m*
7 RXAIT7IL LELA PKS3 126.0 | 1%
BENBARA RM—40 25.4| m*3

XEMEILZILR VT E AL,

RETAREICKL D,

185




650

50 505

200

200

=

A

o FRLE

(v a—+rB)
(FSA4La—Fk)

BENES I e K- & e R
—-112 BHEHETL E55cm S=1.,10
"oOoH % 100m 4 Y

A % Ak - <tk B 2 B
TAI77ILEEEY = R 12.5 t
TATZ7ILLEF PK4 32.0 &
B

i HI 12.6 | t
FRAI727IMERE
FAIZ7I bk
mERan  BE 12.5) ¢
A7 MELH PKS3 126.0 | 1%

BEMBEARA RM—40 25.4| m?®

BEVSvyY¥3>Y RC—40 25.4| m?3

1

8 6




BENES I i e K-t & e

650

£—-113| EEHET E65cm S=1.10
2 M (8vy s a—FB)
2 48 4 &
s SR T B &
S 7xmﬁ”ﬂf&€f &
S (3
(3
M OB X 100 4 Y
: & % Btk - TE | % B B M
L . o w
2 FRIT7ILFEEY 5 i 12.5 |t
® . 5E TAI7 I hELF PK4 32.0 | W
B4E TiI7MNES BB E 12.6 t
BE 7i77MMES #0HLE 12. 6 t
TAITNE BA 249 4
WIEEEY
TA277IL MELE PK3 126.0 (37
BEAMERA RM—40 25.4| m?3
BEXEY25vyLv¥5>Y RC—40 25.4| m?3

187




500

BERES I i 2 K-~ & e R
£—201 MHEMI A4 XYENRR)L |S=1,25
O~1. 5MA/NRI
7 s —
= N i |
iy — \ J oS o S
o~ (=] ©
gl qls? $42.7x2.3 $27.2x1.9 e g
\Y ) 5 o
9 2
. . O —
% B 938 X B 6L _ S
XA O
38
$76.3x3.2
XA X B
3. OMA/NRI 2814 938
2. OMA/N*J) | 1814 | 438 0300
1. SMANRR)L 1314 188
1. OMRA/NRI
814
$42.71x2.3 $27.2x1.9
Y
s /()2
- Sl g ®oOH % 1HESY
g E /3;3 2 % Bak - <tk B B B f
= - & 18-8-20H
-3 . 1 — =] 3
VT 4-39abavhy-+ (H1828) 0.029
BEVSvYvSY RC—40 0. 005 3

1

8 8




BERES I i B K-t & e R
¥ THAVRRALRAAR-—T IV AREFEBRROLRRG £-202 [H#EMT BYHRENRI)L |S=1.25
2T, BEHRHMAXIHEET S,
ERBMBARETAVYEAARILSE
? 3
2814 o A -
938 169 600 169 938
o
S
o ©
ﬂ o
o [ee]
K( w\ - o o
8 4 Lo @) S 2
~N T ~ Ve | —
S %E . /f*}bﬁ% j?"’ S G. L. - N
EEESIN=Y RN 642.7x2.3 | (FILSHEM| 627 2x1.9 =l ® S
™ S s
M Jj —_ [ g) §
76.3x 3.2 |
558
o THART L BAHEMERK s=110
o
= - i
| O
600
FHA IR
ol g 36 528 36
50 (ZILS W) FrvIHU-—Fv M8
(sus)
y i [ - - — J&
S ‘ 4 14 [[11
- +tERFERE S ML
~ J M8x20 (SUS) 2 500 2

1

8 9




BERES I i 2 K-t & e R
$£—-203 BRHEL HR 1+ &R S=1.15
|
|
|
|
|
|
|
60°!
~
\
| # M % ERER)
\ i £ B2 K-~ E H 2 B
\ E&30° gf
| (%3] = 1.0 &K
® 200 x 660
BMEY Yy bk EEW&E200 1.0 X
T )L 2 )L Bog1 . 2 0.006 m 3
XIERLAMRUVISY VDY SUDERERERES R

190




BENES I i e K-t & % R

FHREH

140
100 |40

£—-204] WMHEI B R &R S=1.15
© R S Tm¥%y

§% 2 £ B o%-+ % 0B BB &
2 & Yk oy bERIY LT | B 200 % 1000 1.0 | &
300 T O A2 L B : 2 0.002 m >
1000 BEYVSv9yY¥32 RC—40 0. 037 m 3
H=0.6 0.268  m?®
H=0.8 0.268  m?2
R L A # H=1.0 0.268 | m?
(% B =) H=1.2 0.268 | m?
H=1.4 0.268 | m?
H=1.6 0.268 | m?

191




